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= 2.51%x2.51+0.51x0.5m—0.5mx2.51-0.5mx0.5m
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(v) (x+ y)(2x+ y)+(x+2y)(x—y)=x(2x+ y)+ }’(2x+ y)+x(x— y)-!— 2y(.r— y)
= 2% + xp+ 2xy+ y* + 2% —xy+2xy—2y°
= 2 + X7+ xy+ 20y —xy+2xy+ y* =2y°
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X4y

(vii) (1.5x—4y)(1.5x+4y+3)=4.5x+12y
=1.5x(1.5x+4y+3)—4y(1.5x+4y+3)—4.5x+12y
= 2.25x° +6.0xy+4.5x—6.0xy—16y* =12y —4.5x+12y
= 2.25x" #6.0xy—6.0xy+4.5x—4.5x—16y* =12y +12y
= 2.2%%° —163°
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(i) (x+3)(x+3) (i) (2y+5)(2y+5)
i) (2a-7)(2a=7) (i) (36;-%}[351—%]
) (1.1m—0.4)(1.1m+0.4) i) (a*+b*)(-a*+b7)
(vii) (6x—7)(6x+7) (viii) (-a+c)(-a+c)
(ix) (%+—)(l 3’4—") x)  (7a—9b)(7a—9b)
3R 1:
(i) (x+3)(x+3)=(x+3)
=(x)" +2xxx3+(3)" [HAEHST (a+b)’ =a’ +2ab+b* 9]
= X" +6x+9
(ii) (2y+5)(2y+5)=(2y+5)°
= (2y) +2x2yx5+(5)  [WdEHDT (a+b)" =a® +2ab+b* 9]
= 4y’ +20y+25
(i)  (2a-7)(2a=7)=(2a=7)’
= (2a)" —2x2ax7+(7)  [GdUHST (a—b) =a® —2ab+b* 9]
= 4a* -28a+49
: 1 1 1
(IV) [30—5 [30—512[30—5]
= (3a)2—2x3a><%+[%} [GEHST (a—b)’ = a® —2ab+b* 9]
= 9g? —3g+ 1
™  (Lm-04)(1.1m+0.4)=(1.1m)" —(0.4)’
[‘Hém(a—b)(cl—!-b)zaz—bz @]
=1.21m* -0.16
i) (@ +)(-a’ +b*)= (b’ +a*)(b* —a*)
= (1) ~(«") (DT (a—b)(a+b)=a” ~b* &
=b*-a’
(vii)  (6x=7)(6x+7)=(6x)"—(7)’ [FEIR&T (a—b)(a+b)=a*~b* 9]
= 36x% —49



c— .{)(C—a)z(c—a)2
C) —?_xcx(H—(a)2 m(ﬂ—b)zzaz—?’.ab-ﬂf =y

(viii) (-a +c)(—a+c)

x 3y\x 3y x 3y
(ix) [=+=|=+=|=|=+—=
2 4) 2 4 2 4
=[£] +2x£x3—y+[2] mﬁ (a+b)2=az+2a'b+b2 ﬁ]
2 2 4 4
% 3
= Xyt —y
4 4 ° 16

(%) (7a—9b)(7a—9b)-(7a—9b)

=(7a)’ —2xTax9b+(9b)’ [(dUHST (a—b)’ =a* —2ab+b* ]
= 494’ —126ab +81b°
M3 2:
ﬁgﬁ'@ﬂmﬁﬁmﬁww%ﬁﬁ TAgTHPT (.r-i—a)(.vr—i-l’;r):,\r2 +(a+b)_\'+ab
&I IUGNT I

(i) (x+3)(x+7) (i)  (4x+5)(4x+1)
(iii) (4x-5)(4x-1) (iv)  (4x+5)(4x-1)
v) (2x+5y)(2x+3y) vi) (24 +9)(24° +5)
(vii) (xyz- 4)(,\1\2 2)

3TN 2:
(i) (x+3)(x+7)=(x)" +(3+7) x+3x7

W’éﬂﬁ-ﬁﬂ (x+a)(x+b)= x4+ (a+b)x+ab @]

= x* +10x+21
(ii) (4x+5)(4x+1)=(4 ) +(5+1)4x+5x1

[ﬂﬂ'ﬂﬁfﬁf (x—&-a)(.t-!—b):xz+(a+b)x+ab i'-'l]
= 162 +6x4x+5=16x"+24x+5
(i)  (4x=5)(4x—1) = (4x) +(-5—-1)dx+(=5)x(-1)
RERIEED (x+a)(x+b)=x"+(a+b)x+ab T
= 16x” +(—6)x4x+5=16x" —24x+5
(v)  (4x+5)(4x—1)=(4x) +{5x(~1)}x4x+5%(-1)
[GaE®T (x+a)(x+b)=x"+(a+b)x+ab )
=16x" +(5-1)x4x—5 = 16x* +4x4x—5 = 16x" +16x—5
(v) (2x~|—5y)(2x+3y)=(2_r)2+(5y+3y)><2x+5yx3y

mﬁl—cﬂ (.r+a)(,r+b):x2 +(a+b)x+ab @]



(vi)

(vii)

A3 3:

= 4x” +8yx2x+15y” = 4x* +16xy+15y°
(2al+9)(2.az+5)=(2.al)2+(9+5)><2a2 +9x5
[EdUADT (x+a)(x+b)=x*+(a+b)x+ab ]
= 4a* +14x2a* +45 = 4a* +28a”> +45
(xyz—4)(xyz—2):(.ryz)l+(—4—2)><xyz+(—4)><(—2)
BERIEEa (x+a)(x+b)=x*+(a+b)x+ab ]

= x*y*z* —6xyz+8

Fa ] BT ITANT HRd gu FafeRad o &1 Jrd Siforg:

(1)
(iv)

3r 3:

(@)

(ii)

(iii)

(iv)

V)

(vi)

A3 4:

Wﬁf@m:

(b-7) (i)  (xy+3z) (i) (6x>—5y)

(%nw%n]u (v) (0.41)—0.5.{1)2 (vi) (2,\:\1-|-5y)2

(b=7)" =(b) —2xbxT+(7)’ [T (a—b)’ =a® —2ab+b* ]
= b* —14b+49

(l’_}’+32)2 =(.xy)2 +2xxyx3z+(3z)’ [AdafEET (a +b)3 =a’ +2ab+b* q]
= X'y’ +6xyz+92°

(6.\‘2 —5_3’)2 :(6,\52 )2 —2x6x*x5y+(5y)

[ER®T (a—b)’ =a* —2ab+b* 9

2

= 36x" —60x°y+25y°

—m+—n| =|—m| +2x—mx—n+| —n
3 2 3 3 2 2
[GEEHET (a+b)’ =a® +2ab+b* 9]

2 9 4
m +2mn+—n

O |

2 2

(0.4p—0.5g)" =(0.4p)’ —2x0.4px0.5¢+(0.5)

W’éﬂﬁ-ﬁﬂ (a—b)2 =a’ —2ab+b’ @']

= 0.16p” —0.40 pg +0.25¢"

(2xy+5y)" =(2xy)" +2x2xyxSy+(Sy)’ [FHAHHDT (a+b) =a* +2ab+b* )
= 4x*y* +20xy* +25y*

M (a*-0*)

(i)

(2x+5)" =(2x-5)"



(i)  (7m—8n) +(7m+8n)
(iv) (4.!1@4—5.'?)2 +(5m+4n)2
™) (25p-15¢) -(1.5p-2.5¢)
(vi) (ab+bc) —2ab’c
(vii) (m’ —n m) +2m'n’
IR 4:

(i) (a2 -—bz)2 =(al)2 —2xa’xb’ +(b3)2 RBERIEED (a—b)2 =a’—2ab+b* 9]
= a* - 2a’b* +b*
() (2045) = (2x-5)" =(2x) +2x2xx5+(S) [ (20)° ~2x24x5+(5) |
[T (a+b) =a’ +2ab+b* 3R (a—b)’ =a* ~2ab+b* 9]
= 4x* +20x+25— 4x* —20x+25 |
= 4x* +20x+25—4x" + 20x—25= 40x
(iii) (7m—8n)2 +(7'm+8n)2 = (7m)2 —2x 7m><8n+(8n)2 +|:(7n:r)2 + 2><7m><8n+(8n)2:|

[EAR®T (a+b)’ =a® +2ab+b* AR (a—b) =a* —2ab+b* 9]
= 49m” —112mn+64n’ -1~|:49n|12 +112mn +64nz]

= 49m” =112mn+64n" +49m” +112mn+64n" = 98m* +128n°
(iv) (4m+5n)" +(5m+4n)’ =(4m) +2x4mx5n+(5n)" +(5m)’ +2x5mx4n+(4n)’

[HEH&T (a+b)’ =a’ +2ab+b* 9]

= 16m” +40mn +25n> +25m” +40mn +16n°
= 16m* +25m* + 40mn + 40mn +25n° +16n° =41m* + 80mn +41n*

v) (2.5p-1.5¢) —(1.5p—2.59)"
=(2.5p)2—2x2.5px1.5q+(1.5q)2—|:(l.5p)3—2xl.5px2.5q+(2.5q)2:|
mﬁ:lﬁ (a—b)2 =a’ —2ab+b’ @]
= 6.25p" ~7.50pg+2.25q" —[2.25p* ~7.50 pg +6.25¢" |
= 6.25p" =7.50pg+2.25q> —2.25p* +7.50 pg—6.25¢"
= 4,{)2 4q3
(vi) (ab+bc) —2ab’ c—(ab) +2xabxbc+(bc) —2ab’c

Nﬂﬁ-ﬁ’ﬂ (a+b)3 =a’+2ab+b’ @']

a’b® +2ab’c+b*c? —2ab’c = a*b* +b*c?

2

S |

2 2 2
(vii) (rn2 —n'm) +2m'n’ = (ml) —2xm’ xn'm+ (ffm) +2m'n’

[ﬂﬁ'ﬂfﬁfﬂ (a—b)2 =a* —2ab+b* @]

=m'=2m’n® +n*m’ +2m’n® = m' +n'm?



AR S:
mﬁiz

2 2

(3x+7) —84x=(3x-7)
(i)  (9p-59) +180pg=(9p+5q)

(iii) —m——n| +2mn= Eml +—n’
3 4 9 16

(iv)  (4pg+3q) —(4pq—3q) =48pq’
(v)  (a-b)(a+b)+(b—c)(b+c)+(c—a)(c+a)=0
3R 5:
(i) LHS. = (3x+7)" —84x=(3x)" +2x3xx7+(7)" —84x

[T (a+b)’ =a® +2ab+b* 9]

= 0x? +42x+49—-84x = 9x* —42x+49

= (3.!(—7)2 BERIEED] (a—b)2 =a*—2ab+b* 9]
= R.HS.
(ii) LHS. = (9p—5¢)" +180pg=(9p)" —2x9px5g+(59)’ +180pg

BERIEEE (u—b)2 =a* —2ab+b* |]

= 81p° —90pg +25¢° +180pg = 81p* +90pg +25¢°

= (9p+5q)2 [Héﬂﬁﬁ(a+b)z=a2+2ab+b2 |
2 2 2
(iii) LHS. = (im—é n +2mn=[im] —-2ximx§n+(2n] +2mn
3 4 3 3 4 4

[HEIRT (a—b)’ = a* —2ab+b* 9]

= %ml —2mn+2n2 +2mn = Em2 +%M2 = R.H.S.

2

(iv)  LHS.= (4pg+3q) —(4pg-3q)
= (‘ilqu)2 +2x4pqx3q+(3q)2 A[(/-lpq)z —2x4pgx3q +(3q)1
Wéﬂﬁl’d’)—l (aer)2 =a*+2ab+b* 3R (a—b)2 =a’-2ab+b’ @]
= 16p°q" +24pg* +94° —[16;)2612 —24pq’° +9q2]

=16p°q" +24pg” +9q¢° —16p°q* +24pg° —9g° = 48pg° = RH.S.
(v) LHS.= (a—-b)(a+b)+(b—c)(b+c)+(c—a)(c+a)

=a-b+b’ -+ -a’ (SRS (a—b)(a+b)=a® —b* )
=0=RHS.
M3 6:
gaafhrell & Iud ¥ FafaRad 7 i Sifo:
(i) i i (i) 99° (iii)  102?



(iv) 998° (v) 52° (vi)  297x303
(vii) 78x82 (viii) 8.9 (ix) 1.05x9.5

3R 6:

(i) 71 =(70+1) =(70)" +2x70x1+(1)"  [FIGHSBT (a+b)" =a* —2ab+b* 9]

=4900 + 140 + 1 = 5041

(i) 997 =(100—1)" = (100)" —2x100x 1+ (1)’ [MSAHST (a—b)’ = a* —2ab+b* 9]

=10000 - 200 + 1 = 9801
(i) 1022 =(100+2) =(100)" +2x100x2+(2)’

[FdAHST (a+b) =a’ +2ab+b* ]

=10000 + 400 + 4 = 10404
(iv)  998° =(1000-2)" =(1000)’ —2x1000x2+(2)*
[EE®T (a—b)’ = a’
= 1000000 - 4000 + 4 = 996004
V) 527 =(5+0.2)" =(5)" +2x5x0.2+(0.2)°

—2ab+b* 9]

[GE®T (a+b) =a’ +2ab+b* 9]

=25 +2.0+0.04 = 27.04
(vi) 297 x303 = (300 -3)x (300 +3) = (300)" —(3)’

mﬁl—tﬂ(a b)(a+b) =a’ -b @]

=90000 - 9 = 89991
(vi)  78x82=(80-2)x(80+2) = (80) —(2)°

[FAdRADT (a—b)(a+b)=a® —b* 9]

= 6400 -4 =6396

(viii)  8.9°=(8+0.9)" =(8)" +2x8x0.9+(0.9)’ [FAGHDI (a+b)’ =a* +2ab+b" 9]

=64 +14.4 + 0.81 =79.21
(ix) 1.05x 9.5 = (10 + 0.5) x (10 - 0.5) = (10)" —(0.5)’

[EEHHPT (a—b)(a+b)=
ARAT:
*—b* =(a+b)(a—b), BT IYAN $d §Y, Fafeiad 7 1d HIfST:
(i) 51% - 49 (i)  (1.02)" =(0.98)
(iii) 153° —147° (iv) 12.1’-7.9°
I 7:

a’ —b* @]

(i) 51 —49* =(51+49)(51-49) [FdEIADT (a—b)(a+b)=a®—b* 9]

=100x 2 =200
(i) (1.02)" —(0.98)" =(1.02+0.98)(1.02-0.98)

W@ﬁq’aﬂ(a b)(a+b)=a’ —b’ T

=2.00x0.04=0.08



(i) 153’ 147" = (153+147)(153-147)  [GdEHSI (a—b)(a+b)=a* —b* ¥

=300x6=1800

(v)  12.°-7.9"=(12.1+7.9)(12.1-7.9)  [HAHHSI (a—b)(a+b)=a* —b* ¥

=20.0x4.2=84.0=84

M3 8:
(x+a)(x+b)=x"+(a+b)x+ab, P IUGNT Hd gL, AAfIRIT HF 1 DI
(i) 103x104

(i) 5.1x5.2
(iii) 103 x98
(iv) 9.7x9.8
3T 8:
(i) 103 x 104 = (100 + 3) x (100 + 4) = (100)° +(3+4)x100+3x4

(i)

(iii)

(iv)

BERIEEE (x+a)(x+b)=x"+(a+b)x+ab ]
=10000+7x 100+ 12
=10000+700+12=10712

51x5.2=(5+0.1)x (5 +0.2) = (5)° +(0.1+0.2)x5+0.1x0.2

RERIEER (x+a)(x+b)=x"+(a+b)x+ab ¥
=25+03x5+0.02
=25+1.5+0.02 = 2652

103 x 98 = (100 + 3) x (100 - 2) = (100)° +(3-2)x100+3x(~2)

[EdUA®T (x+a)(x+b)=x*+(a+b)x+ab ]
= 10000 + (3-2)x 1006
=10000 + 100 - 6 =10094

9.7x9.8=(10-0.3) x (10 - 0.2)
= (10)" +{(-0.3)+(-0.2)} x10+(-0.3)x(-0.2)

(GG (x+a)(x+b)=x>+(a+b)x+ab
= 100+{-0.3-0.2} x10+0.06

=100-0.5x 10+ 0.06
=100-5+0.06 =95.06
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